Goal

AAE Model No. IFHG
Indoor Field Hocke

\/ BN )

U
At xm» r«}%}y
/
lf«fﬁﬂf 27 A?xruﬁ; r?ﬂ/
==
e _ww,.l. *,.L,.r,.rm.wx.m.,w” ﬁuﬁ#*ﬂ« mxdiﬂywﬁ,mﬂy%
ifi Py

LY LY Y /
ey LJ

Wi;mﬂv Lere:

*TMAT =

.,V»M.T,
' #4(
/I

ERRRR
etecen

ﬁ

LL

Sm S mranas
Lnr R 4447

.TT,LfL
7

ANt
SR8% ««rww (44 uﬂ;ﬂgkxw%%wA

R

ment
PA 19468

?0 r

1000 Enterprise Drive, Royers

Aluminum Athletic E

Toll Free: (800) 523-5471 Fax: (610) 825-2378
www.AAEsports.com

JLJLJ mmw JLleJJL
SERuREwe ).L« xlﬁ Rumwew
b b
.: ﬁaﬂ,.wﬁdfn mERE AR

JLL}JMJLJ.,JrJlu,
by EE
AA«MMW#MM Lnw M& *

B
AR LY .UMMJA.VVA
WAﬂﬂnwﬁﬂﬁTTﬂfAﬂ

— -
AR RRARRANRRRAYS

Rtane:

Lﬁ B
=n ﬁm,.ﬁ«

ﬁ.,u.u m.»ﬂ - ab. T 1»4AT» m. TE ab. T 1 4

P




8
IFHG

Indoor Field Hockey Goal
Specifications

2" square aluminum
extrusion

1/2" thick
black synthetic
bottomboards

118 1/8"

Y

[}

122 1/8"

8
78 3/4"

0 3/4"

Y 5 . :

Y

A

Model No. IFHG/B
(Black) 1-3/4"sq. HTTP
Knotless net
(Included)

O
—FEEess

46-1/2" — =]

50-1/2" ——

Goal mouth features a
white powder-coat finish

Model No. RW-FHG with the goal mouth
10"diameter semi-

pneumatic wheels with

3/4" diameter stainless

steel axle and cotter

pin, 4 per set (included)

1-1/4" x 2-1/2" aluminum extrusion for
side construction at bottomboard level
to position the side bottomboards flush

Aluminum Athletic Equi

www.AAEsports.com

ment
1000 Enterprise Drive, Royersford, PA 19468
Toll Free: (800) 523-5471 Fax: (610) 825-2378

DESCRIPTION:

IFHG - Indoor Field Hockey Goal

NOTE:

Specifications
Net fits over side frame and MODEL: CATEGORY: DATE:
behind b board IFHG CUSTOMER 10/26/2021
ConneCtS e In Ottom oar S DWN. BY: CAD FILE: DWG. NO.
using molded net clips CED IFHG-Specifications IFHG-C-001
Copyright © 2010 Aluminum Athletic Equipment Co. 6 4 3 2 1




Indoor Field Hockey Goal
Goal Assembly

DETAIL C
SCALE 1:8

Components in this Step:

1) Front Frame Goal Mouth
2) Bottom Side Frame

3) Right Side Frame

4) Left Side Frame

5) Rear Frame

DETAIL B
SCALE 1:8

Aluminum Athletic Equipment
1000 Enterprise Drive, Royersford, PA 19468
Toll Free: (800) 523-5471 Fax: (610) 825-2378

www.AAEsports.com

DESCRIPTION:
Hardware Used in this Step: IFHG - Goal Assembly
6) 5/16" S.S. Flat Washer = 28 Total NOTE: Indoor Field Hockey Goal
DETAIL A 7) 1/4"-20 S.S., Nylon Lock Nut = 14 Total N T ooy =
. 8) 1/4"-20 x 2-3/4", Phillips Truss Hd. S.S. = 14 Total " IFHG ' CUSTOMER ©02/13/2020
SCALE T 8 DWN. BY: CAD FILE: DWG. NO.
CED IFHG-Specifications IFHG-C-002
Copyright © 2010 Aluminum Athletic Equipment Co. 5 4 3 [ 2 [ 1



8 7 )

IFHG
International Field Hockey Goal
Bottom Board Assembly

Components in this Step:
13) Side Bottom Boards

14) Back Bottom Boards

Hardware Used in this Step:
6) 5/16" S.S. Flat Washer = 60 Total

9) 1/4"-20 S.S., Thin Nylon Lock Nut = 30 Total

10) 1/4"-20 x 2-1/4", Phillips Truss Hd. S.S. = 12 Total
(use on Side Bottom Boards)

11) 1/4"-20 x 3", Phillips Truss Hd. S.S. = 18 Total
(use on Back Bottom Boards)

DETAIL D
SCALE 1:12

S
ARe

Aluminum Athletic E?uipmg]n:
ord, PA 19468

1000 Enterprise Drive, Royers

Toll Free: (800) 523-5471 Fax: (610) 825-2378

www.AAEsports.com

DESCRIPTION:

IFHG - Bottom Board Assembly

NOTE:

Indoor Field Hockey Goal

MODEL:

IFHG

CATEGORY:

CUSTOMER

DATE:

02/13/2020

DWN. BY:

CED

CAD FILE:

IFHG-Specifications

DWG.

0.

IFHG-C-003

Copyright © 2010 Aluminum Athletic Equipment Co. 6

3

2 [

1




8
IFHG
International Field Hockey Goal F
Net Assembly

Components in this Step:
16) IFHG Net

17) 10" Pneumatic Wheels (*Sold Separately™

Hardware Used in this Step:
15) MNC - Molded Net Clips, Black = 76 per Goal (approx.)

(use to attach net to goal)

Attach Net to Top
Crossbar and Rear
Groundbar using
molded net clips
Approx. 22-26 clips per.
(4"-5" spacing)

©
(}Attach Net to Side

Uprights of the Goal
» Mouth using molded
net clips Approx. 14
DETAIL F clips per side
SCALE1:8 (4" spacing)

Molded Net Clips attaches
net to bottom side frames
using Approx. 8 MNC per

Aluminum Athletic Equipment
1000 Enterprise Drive, Royersford, PA 19468
Toll Free: (800) 523-5471 Fax: (610) 825-2378

www.AAEsports.com

DESCRIPTION:

IFHG - Net Assembly

NOTE:

Indoor Field Hockey Goal

. " . MODEL: CATEGORY: DATE.
DETAIL E  side (6" spacing) IFHG CUSTOMER 02/13/2020
SCALE 1:8 DWN.BY: _ |CAD FILE: DWG. NO.
CED IFHG-Specifications IFHG-C-004
3 ! 2 ! 1

Copyright © 2010 Aluminum Athletic Equipment Co. ‘ 6 [ 5




	Title Sheet
	Drawing View14

	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3

	Sheet2
	Drawing View4
	Detail View A (1 : 8)
	Detail View B (1 : 8)
	Detail View C (1 : 8)

	Sheet3
	Drawing View8
	Detail View D (1 : 12)

	Sheet4
	Drawing View10
	Detail View E (1 : 8)
	Drawing View12
	Detail View F (1 : 8)


